Geometry (Line & Angle)
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% Point: Zero dimension figure or a circle with zero radius.
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% Line: One-dimension figure line is a set of points having only

length withnoends. __
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% Line segment: A line with a fixed length.

@ WS T [iEd dars arar ¥’ |

Pe———o(Q

% Ray: A line with uni-direction length. A °
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% Angle: inclination between two sides is called angle.
FI0: & YA S F FHTA B B0 PEA )
<ABC =86
A




% Complementary Angle: If sum of two angles is 90° then they are

Complementary to each other.
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% Supplementary Angle: If sum of two angles is 180° then they

are supplementary to each other.
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Supplementary Angle: SqR 10T
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Supplementary angle of an angle is 90° more than

complementary angle.
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+ Transversal Line: A line which interests two or more lines at

distinct point is called transversal lines of the given lines.
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+» Parallel lines: two or more line that never intersects L || M
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AB || CD and EF is transversal line
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Corresponding angles / I3Td DI 21 = 15,24 =18

22=1¢6,23=27

Alternate Angles / ThidR HIUT 23 =15 24=1,6
24+ +,5=180°



23+2,6=180°

% If AB || CD then find the value of a+p+y?
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b=a+c+X

Sum of angle on RHS = LHS
(RHS = LHS TR HIUN 1 TI)

a+0 = a+6
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